


Parts List for C7510 Type 0

Item Number Part Number Description Qty Required

1 D28221 PULLEY A-SEC 3.75OD 1

2 000000-00 No Longer Available 4

3 Z-D28178 MOTOR OL 240V 2POLE 1

4 SSF-8150 NUT .312-18 UNC HEX 4

5 91890228 WASHER 5/8 X 1.32 X 4

7 N286039 DRAIN VALVE 1

8 SUDL-9-1 SCREW #8-32X.375/.34 2

8 AC-0557 COVER PRES SWITCH 1

8 Z-D22260 SWITCH PRES 1PORT 11 1

9 AC-0217 MANIFOLD 1

10 Z-GA-360 GAUGE 300 PSI BACK M 1

11 97503734 VALVE SAFETY 150 .12 1

12 SS-2072-1 NIPPLE .375 NPT X 1. 1

13 D28179 TUBE PR .25OD COPPER 1

14 SSP-7811 ASSY NUT SLEEVE 1/4 1

16 SSW-7482 CONNECTOR CONDUIT 3/ 1

17 A19715 VALVE CHECK 1/2NPT X 1

18 000000-00 No Longer Available 1

19 000000-00 No Longer Available 1

20 N056983 NIPPLE 1

21 000000-00 No Longer Available 1

22 000000-00 No Longer Available 4

23 Z-D28186 PUMP OL 1STG UNOAIR 1

24 000000-00 No Longer Available 2

24 D28191 FILTER ELEMENT 2

25 D28216 BELT A-SEC AP49 50.3 1

26 000000-00 No Longer Available 1

Page 1

COPYRIGHT© 2005. All Rights Reserved.
Parts list, pricing, and availability subject to change.  Please visit www.dewaltservicenet.com for current parts information.

http://www.dewaltservicenet.com


Parts List for C7510 Type 0

Item Number Part Number Description Qty Required

27 D24472 SCREW .250-20X3.470 1

29 91895680 SCREW .250-20X.750 H 4

30 D28218 TUBE OUTLET .50OD CO 1

31 SSP-7812 ASSY NUT SLEEVE 1/2 2

32 SSP-9401 CONNECTOR BODY STRAI 1

33 000000-00 No Longer Available 1

36 000000-00 No Longer Available 1

37 000000-00 No Longer Available 1

39 D23590 LABEL 1

43 N008806 LABEL HOT SURFACE TR 1

44 D23194 LABEL 1

55 000000-00 No Longer Available 1

56 000000-00 No Longer Available 1

57 000000-00 No Longer Available 3

60 621451-00 WASHER 4

101 A14121 BOLT 8

102 D28188 WASHER LOCK UNOAIR 7 16

103 D28189 HEAD PUMP UNOAIR UB3 2

105 D28192 GASKET 2

106 D28193 VALVE SEAT UNOAIR 70 4

107 D28194 GASKET 2

108 D28195 VALVE PLATE UNOAIR 7 4

109 D28196 GASKET 2

110 5140047-06 CYLINDER HEAD 2

111 D28197 NUT CYLINDER UNOAIR 8

113 D28199 STUD CYLINDER UNOAIR 8

114 5140047-07 GASKET CYLINDER BASE 2

Page 2

COPYRIGHT© 2005. All Rights Reserved.
Parts list, pricing, and availability subject to change.  Please visit www.dewaltservicenet.com for current parts information.

http://www.dewaltservicenet.com


Parts List for C7510 Type 0

Item Number Part Number Description Qty Required

119 5140035-00 PISTON RING SET 2

120 5140031-99 PISTON PIN 2

121 5140031-98 CLIP 4

122 5140031-97 CONNECTING ROD 2

123 5140065-68 PISTON 2

124 D28200 ELBOW OUTLET .375NPT 1

126 D28201 ELBOW INTERCOOLER UB 1

127 D28202 INTERCOOLER ASSY UNA 1

133 000000-00 No Longer Available 1

134 D28204 SIGHTGLASS UNOAIR UB 1

136 D28205 GASKET BEARING UNOAI 1

137 D28206 GASKET OIL FILL UNOA 1

138 D28207 PLUG OIL FILL UNOAIR 1

139 5140030-61 OIL DRAIN PLUG 1

143 D28208 SEAL OIL BEARING UNO 1

144 D28209 GASKET BEARING UNOAI 1

146 D28210 VENT CRANKCASE UNOAI 1

149 D28211 FLYWHEEL A-SEC 10.5O 1

150 D28212 WASHER FLYWHEEL UB30 1

151 D28213 WASHER LOCK FLYWHEEL 1

152 D28214 SCREW M8X1.0-1.57 FL 1

153 D28198 VALVE FLOW .375NPT 8 1

856 D28229 GASKET KIT 1

856 D28228 VALVE KIT 1

COPYRIGHT© 2005. All Rights Reserved.
Parts list, pricing, and availability subject to change.  Please visit www.dewaltservicenet.com for current parts information.

Page 3

http://www.dewaltservicenet.com

